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7KH QHZ 6PDUW&DWDORJ

,Q DGGLWLRQ WR WKH SULQWHG VSDL
WR ILQG RULJLQDO VSDUH SDUWV LQ
VPDUWSKRQHY DQG WDEOHWYV ZLWK L
IURP QRZ RQ DOVR DV D ZHE DSSOLFC
RI DOO WKH HVVHQWLDO LQIRUPDWLR
FDWDORJXHV WKH 6PDUW&DWDORJ R
PDNH \RXU VSDUH SDUWV PDQDJHPHQ
2YHU XVHUV LQ PRUH WKDQ FR
XVH RI RXU 6PDUW&DWDORJ :H QRZ K
FDWDORJXHV IRU VWDQGDUG PDFKLQI

)LQG RULJLQDO VSDUH

DQG TX

'LIJLWDO VSDUH &
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&GRQYHQLHQW VHDUFK IXQFWLRQ ZLW
,QWHJUDWHG LQTXLU\ OLVW IRU GLU

2YHU SURGXFW SKRWRV HQVXUF
LGHQWLILFDWLRQ

1R WUDQVFULSWLRQ HUURUYV
:KHUH XVHG OLVW IRU HIILFLHQW VS
'RZQORDG RI VSDUH SDUWV VKHHWYV

2SWLPLVHG SUHVHQWDWLRQ IRU PRE
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&RQYHQLHQW VHDUFK IXQFWLRQ IRU

7KH 6PDUW&DWDORJ KDV D VLPLODU
\RX ZDQW WR IDVW WUDFN \RXU VHDU
IXQFWLRQ 6LPSO\ HQWHU D SDUW QX
VKHHW QXPEHU DQG WKH V\VWHP ZLO
SDUWV :LWK WKH ZHE YHUVLRQ \RX
\RXU RQOLQH VHDUFK WR DOO PDFKL(
FRPSDQ\

,QWHJUDWHG LQTXLU\ OLVW PDNH D

7KH QHZ 6PDUW&DWDORJ KDV DQ LQW
FRPSLOH WKH VHOHFWHG SDUWYV DQG
FRPSDQ\ V SURFXUHPHQW GHSDUWPH
FDQ DOVR VHQG WKLV LQTXLU\ OLVW
SDUWQHU 7KLV PDNHV \RXU LQTXLU\
\RX FDQ DYRLG W\SRV WKDW PD\ RFF)>
IURP WKH SULQWHG FDWDORJXH

*R WR WKH 6PDUW&DWDORJ KHUH

7KH QHZ 6PDUW&DWDORJ LV DYDLODE
VWDQGDUG PDFKLQHV EXLOW IURP
6PDUW&DWDORJ XVHUV FDQ DFFHVV V
WR UHJLVWHU DJDLQ )RU PRUH LQIRL
XV RQ RU HPDLO XV RQ
VPDUWFDWDORJ#SODVVHUWKHXUHU F
GHWDLOV WR RUGHU WKH DSS IRU \R>

30DVVHU 7TKHXUHU

([SRUW YRQ %DKQEDXPDVFKLQHQ
Z2ZZ SODVVHUWKHXUHU FRP
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2YHU SURGXFW SKRWRV HQVXUH
LGHQWLILFDWLRQ

7KH FDWDORJXH DOUHDG\ KDV RYHU
ZLOO PDNH LW HDVLHU WR LGHQWLI\ °
FHUWDLQW\ WR NQRZ \RX KDYH VHOHI
ZLOO GLVSOD\ \RXU ODWHVW PDFKLQI
LQTXLU\

KHUH XVHG OLVW IRU \RXU HIILFLHQ\

7KH ZKHUH XVHG IXQFWLRQ LV FRPSO
D VSDUH SDUW LV XVHG LQ D FHUWDL
PDFKLQH IOHHW %DVHG RQ WKLV LQI
ZKHWKHU LW LV ZRUWK WR UHTXHVW
PDNH \RXU VWRFN PDQDJHPHQW HDVL
QHZ RSWLRQ WR GRZQORDG 3')V RI V¢

:LHQ -RKDQQHVJIDVVH-
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